3.8 Solving Problems with Exponents and Logarithms (Part IT)
(This section is all about comparing values, rather than finding specific values.)
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Ex. 1) The population of a swarm of insects increases fivefold in 3 weeks. How many times greater
is the population of the swarm after 6 weeks than it is after 4 weeks?
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Earthquakes

Each increase of 1 unit on the Richter scale represents a tenfold increase in intensity as
measured on a seismometer. roxe =\ O per iod =4

Ex. 2) The San Francisco earthquake of 1989 measured 6.9 on the Richter scale, while an

earthquake on the B.C. coast in 1700 measured 9.0. How many times as intense as the San
Francisco earthquake was the B.C. earthquake?
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Ex.3) Determine the magnitude of an earthquake that i@im@ps intense as the B.C. earthquake
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Loudness _
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An increase of 10 decibels (dB) represents a tenfold increase in loudness. B} k__ i
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Ex. 4) Ave}‘age street traffic measures 85 dB while a typical rock group measures 110 dB. How
many times louder is the rock group than the street traffic?
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pH Levels

pH above 7: each 1 unit increase in pH represents a tenfold increase in alkalinity rave = e
H below 7: each 1 unit decrease in pH represents a tenfold increase in acidi o
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Ex.5) Lemon juice has a pH level of 2, while fomato juice has a pH level of 4. How many times
more acidic is lemon juice than tomato juice?
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Ex. 6) Baking soda has a pH level of 9. Determine the pH level of a cleaner that @s alkaline
as baking soda.
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